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1. Introduction
In this document, we discuss the ULCA measurement BW and ACLR Offset.
2. Discussion
2.1. Background
In the last meeting, WF [1] was approved with the following definition for ACLR measured bandwidth. 
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Although this is not incorrect, it presents an issue when calculating the [image: image3.png]ACLRpf sser



. The frequency for the allocation centre is not exactly at the TXLO frequency. There is a shift, [image: image5.png]


, as follows that needs to be added with respect to the TXLO frequency to make sure the entire transmission BW is contained within the MBW. The ACLR offset with respect to the TXLO frequency is calculated as follows:
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 is small enough to ignore, but in this case, the MBW is just enough to contain the transmission BW, so the shift is essential to contain all RBs in measuring the entire wanted signal power. If the measurement BW is large enough, then there is no need for a [image: image14.png]


 shift.

The reason there is a problem because it requires an added step in the testing process to shift the frequency of the allocation to measure wanted power and then measure the ACLR. The center frequency of the component carriers are fixed before the signal is received by the test equipment. The test equipment must do another step of shifting the allocation.
Observation 1: An added step is required in the test equipment to shift the allocation with respect to the TXLO to measure the wanted power with the proposed ACLR measurement BW in the WF.
Observation 2: Measurement BW is too close to transmission BW to force a shift in frequency to measure wanted power

2.2. Proposal
It is better to add some margin to the measured bandwidth instead of a measured bandwidth very close to the actual transmission bandwidth. Then there is no need to frequency shift the allocation, and there is also no need to adjust the ACLR offset frequency with respect to the TXLO. The measured BW can be increased by simply using the minimum of the GBs. This is less complicated to what was approved in the last WF. So, we make the following proposals:
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Proposal 2: Use   [image: image16.png]-BW,hannel ca
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3. Conclusion

Observation 1: An added step is required in the test equipment to shift the allocation with respect to the TXLO to measure the wanted power with the proposed ACLR measurement BW in the WF.

Observation 2: Measurement BW is too close to transmission BW to force a shift in frequency to measure wanted power
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